
P3: Integer exponent and scientific notation 

1. The expression 
(0.00002)(6.9×108)

23
 in scientific notation, is equal to 

 

A) 6 × 102 

B) 6 × 10 

C) 3 × 102 

D) 2 × 102 

E) 6 × 10−2 

 

 

 

 

2. If 
(12800)(2×106)

0.0064
= 𝑚 × 10𝑛, then 𝑚 + 𝑛 = 

 

A) 16 

B) 13 

C) 15 

D) 14 

E) 12 

  



3. If 𝑀 = −2−2 ⋅ (−4)0 and 𝑁 = −
2

5
÷ 1.6, then the distance between 

𝑀 and 𝑁 is equal to 

 

A) 0 

B) 
1

4
 

C) 
1

2
 

D) −
84

25
 

E) −
1

2
  

 

 

 

4.  If 𝑥 ≠ 0, 𝑦 ≠ 0, and 
3(𝑥4𝑦−1)−1(−2𝑥−2)−2

(2−1𝑦−2)2
= 𝑘𝑥𝑎𝑦𝑏, then 𝑘 + 𝑎 + 𝑏 = 

 

A) 8 

B) 
16

3
 

C) -43 

D) 0 

E) −
3

16
 

  



5. The decimal notation of the expression 
(1.6×103)(5.1×10−5)

4.8×102
, is 

 

A) 0.00017 

B) 0.000017 

C) 0.0014 

D) 140000 

E) 0.0017 

 

 

 

 

6. Let 𝐴 = 0.0018, 𝐵 = 400000, and 𝐶 = 0.0002. If 
𝐴𝐵

𝐶
 is written in 

scientific notation, then 
𝐴𝐵

𝐶
= 

 

A) 3.6 × 106 

B) 36 × 105 

C) 3600000 

D) 1.8 × 106 

E) 18 × 105  

  



7.  If 
(3𝑥−2𝑦−3)−2

27𝑥𝑦
=

𝑥𝑚𝑦𝑛

3𝑘
, then 𝑛 + 𝑚 + 𝑘 = 

 

A) 13 

B) 6 

C) 3 

D) 5 

E) 11 

 

 

 

 

8. The number (−2−2 + 3−1)−1 is equal to 

 

A) 12 

B) -12 

C) 5 

D) -5 

E) 
12

7
 

 

  



9. The number 
(6.9×1029)(7.5×10−14)

0.023×1016
 written in scientific notation is given 

by 

 

A) 2.25 × 102 

B) 22.25 × 106 

C) 2.25 × 10−2 

D) 0.225 × 104 

E) 2.25 × 10−5  

 

 

 

 

 

 

10.  If (
𝑥3𝑛𝑦2𝑛

𝑥−2𝑛𝑦3𝑛+1) = 𝑥𝐴𝑛+𝐵𝑦𝐶𝑛+𝐷, then 𝐴 + 𝐵 + 𝐷 = 

 

A) 4 

B) 2 

C) -4 

D) -3 

E) 7 

 

 

  



11. If 2𝑥−1 = 𝑦, then 23𝑥−2 = 

 

A) 2𝑦3 

B) 4𝑦3 

C) 𝑦3/8 

D) 𝑦3/4 

E) 𝑦3/2 

 

 

 

 

12. If 𝑝 ≠ 0, then which one of the following statements is FALSE 

 

A) −3𝑝0 = −1 

B) 3𝑝0 = 3 

C) (−3𝑝)0 = 1 

D) −(3𝑝0) = −3 

  



13. If 𝑝 = 3 and 𝑞 = 2, then the value of 
𝑝−1+𝑞−1

1−(𝑝𝑞)−1
= 

 

A) 1 

B) 
5

7
 

C) 
25

36
 

D) −
1

6
 

E) -1  

 

 

14.    
(−2𝑥3)2(𝑥𝑦)−3

(3𝑥−5𝑦2)−2
=  

 

A)  
36𝑦

𝑥7
 

B) 
36𝑥

𝑦7
 

C) 
4𝑦

9𝑥
 

D) −
9𝑦

4𝑥
 

E) 36𝑥𝑦 

  



15. If 
(210000)(4×10−12)

0.000028
= 𝑚 × 10𝑛  (in scientific notation), then 𝑚 + n = 

 

A) -2 

B) 1 

 

 

 

 

 

 

16. Let 𝐴 = 0.0000021, 𝐵 = 200000, and 𝐶 = 8.4 × 10−𝑛. If 
𝐴𝐵

𝐶
=

5 × 103, then 𝑛 = 

 

A) 5 

 

 

  



17. If 
0.7×10−5

(−1.4×10−6)(−1000)
= 𝐴 × 10𝐵 is written in scientific notation, 

                 then 𝐴 + 𝐵 = 

 

A) 2 

 

 

 

 

 

19. In scientific notation, the number 
(16000)(4.5×10−4)

0.048
= 

 

A) 15 × 102 

B) 1.5 × 103 

C) 1.5 × 102 

D) 1.5 × 10−2 

E) 15 × 10−2 

  



20. (1.3 × 10−13) + (12 × 10−14) = 

 

A) 2.5 × 10−13 

B) 25 × 10−13 

C) 3.5 × 10−13 

D) 13.3 × 10−27 

E) 2.5 × 10−27 

 

 

 

 

21. ( 1.1 ) 2 - 2 ( 1.1 ) ( 0.9 ) + ( 0.9 ) 2 = 

 
A) 4 ×10 - 2 

B) 2 ×10 - 4 

C) 4 ×10 - 1 

D) 2 ×10 - 2 

E) 2 ×10 - 1 
 

 

  



22.   If 𝑎 = 2 and 𝑏 = −3, then (85)3𝑎 (
1

𝑎−2 −
3

𝑏−3)
3𝑏

= 

 

A) 85−3 

B) 0 

C) −
1

77
 

D) −
1

85
 

E) 8512 

 

 

23.   Let 𝑎 = 93,000,000 miles be the distance from the earth to 

the sun, and 𝑏 = 1.86 × 105 miles per second be the speed 

of light. If 𝑐 =
𝑎

𝑏
 is the time, in seconds, for a light ray from 

the sun to reach the earth, then 𝑐 = 

 

A) 5 × 102 

B) 
1

2
× 102 

C) 
1

2
× 102 

D) 
1

2
× 10−1 

E) 5 × 10−1 

 



 


